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The practice problem associated with the chapter brought multiple previous concepts back into
the equation. When dealing with the tipping force required by the wind, a moment had to be
established about the pivoting point. The use of free body diagrams became essential again for
determining drag force. The only really new concept beside the equations was that of the drag
coefficient. The easiest route was using the table provided to determine the drag coefficient based on
the shape of the object. However, the Reynold’s number was the “long hand” route to determine the
drag coefficient. What was interesting about the drag coefficient calculations was the fact that it could
be done as an approximation. For example, if a shape was irregular but closely resembled a triangular
cylinder, you could use the table value for such to get a rough estimate of the drag force. In all, the
chapter appeared daunting at first glance but when breaking the problems down into smaller pieces,
they were relatively simple.
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